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Ключ
3 –ь 9 – с
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8 – р 47 – к



скорость



V - 
скоростьV=S:t





расстояни
е



S - 
расстояниеS=V*t







время



t - время
t=S:V



Задачи

48 км/ч 33 км/ч



Задачи

48 км/ч 33 км/ч

Вопрос:
На сколько уменьшается 
расстояние между ними через 
каждый час?



скорость сближения 
(Vсбл.)- это расстояние, на 

которое сближаются 
объекты за единицу 
времени



Задачи

48 км/ч 33 км/ч

243 км



Задачи

48 км/ч 33 км/ч

243 км
t = ? ч



Задачи

25 км/ч 43 км/ч

204 км
t = ? ч



Задачи

59 км/ч 32 км/ч

364 км
t = ? ч




